

例1 P100

$$a_{n+2} = 4a_{n+1} - 3a_n$$

$$a_{n+2} = (3+1)a_{n+1} - 3a_n$$

公式より

$$a_{n+2} - a_{n+1} = 3(a_{n+1} - a_n) \dots \textcircled{1}$$

$$b_n = a_{n+1} - a_n \text{ とおくと } \textcircled{1} \text{ は}$$

$$b_{n+1} = 3b_n$$

数列 $\{b_n\}$ は、公比3の等比数列

$$\text{初項 } b_1 = a_2 - a_1 = 4 - 1 = 3$$

数列 $\{b_n\}$ の一般項は

$$b_n = 3 \cdot 3^{n-1}$$

$$b_n = a_{n+1} - a_n \text{ より}$$

$$a_{n+1} - a_n = 3 \cdot 3^{n-1}$$

数列 $\{a_n\}$ の階差数列の一般項は $3 \cdot 3^{n-1}$ $n \geq 2$ かつ

$$a_n = a_1 + \sum_{k=1}^{n-1} 3 \cdot 3^{k-1}$$

$$= 1 + \frac{3(3^{n-1} - 1)}{3 - 1}$$

$$= 1 + \frac{3 \cdot 3^{n-1} - 3}{2}$$

$$= \frac{2}{2} + \frac{3^n - 3}{2}$$

$$a_n = \frac{3^n - 1}{2} \dots \textcircled{2}$$

 $\textcircled{2}$ は $n=1$ かつ

$$a_1 = \frac{3^1 - 1}{2} = \frac{2}{2} = 1$$

よって $\textcircled{2}$ は $n=1$ とも成り立つ

$$\therefore a_n = \frac{3^n - 1}{2} \quad (n \geq 1)$$

公式

$$a_{n+2} = (P+1)a_{n+1} - Pa_n \text{ の形}$$

↓

$$a_{n+2} - a_{n+1} = P(a_{n+1} - a_n)$$

数列 $\{a_n\}$ の階差数列 $\{b_n\}$ かつ $n \geq 2$ かつ

$$a_n = a_1 + \sum_{k=1}^{n-1} b_k \dots \textcircled{1}$$

 $n=1$ かつ $\textcircled{1}$ は $n=1$ にも成り立つ

成り立つことがわかる。